MAElephant SRS

E[ephameyDeMa‘wm Containerbox

NAALDHOUT NATUREL 144 x 90 x 128 cm

- ey

FSC

www.fsc.org

MIX

Hout v:
verantwoorde
herkomst

FSC® C020544

Eﬁffﬁ] T: 431 (0)88 1885 100

I LT www.elephantbydekker.com e ant
Tk e H ] .@Elephant Dekker

%‘;ﬁ "

f ElephantByDekker Ele,ohayrtByDe#a‘ om



‘..Pw,.m.‘.w?r_x _.EQ:nmwwwm

3

Before assembly

® We recommend that time is taken to read the instructions before

starting assembly, then follow the easy step by step guide.
The instruction sheet is o:N a guide to the assembly.
Certain items may not be shown to scale.

® Check all components prior to assembly

® Drill all components where indicated.

® This product should be assembled by no less than two people.
® Never attempt to erect the assembly in high winds.

Recommended tools for assembly
® Cross head screw driver

® Drill with 3mm diameter drill bit

® |3mm Spanner

T
a -Eé
8

Drill

B

z
e

Components

Base plates

Side panel

Back panel -

Door

Left lid

Right id

Front rait

|~ o o] afw]nf —

Lid stay

Fixing kit

Hinges

Slide bolt

150mm bolt

100mm bolt

Nuts

Washers

Chain

60mm screws

40mm screws

30mm screws

15mm screws

o
*g:s*w“w—"'*_g b i o et o R o g

Secure the three side panels and two back panels as shown below wusing
3 x 60mm screws for each join. Ensure all panels are level along the bottom edge.

2. Base plates

Secure the front rail to the top of the front face of the uprights as shown using
6x40mm screws. Attach the 2 base plates using 3 x 40mm screws per plate.
When attaching the plates , ensure that the end of each plate Is-flush with
comers of the side panels and the centre panel is secured centrally on the base

plate.

i

Drill pilot holes for 3,
each screw in this N
section %

b. WMO—.

Attach the hinges to the frames of the doors as shown below using 3x30mm
screws per hinge. Position the doors between the side panels leaving a small
gap between the bottom of the door and the base plate. Secure the hinges to
the outer side panels :m_m__wm 3x30mm screws per hinge. For each door position
the two parts of the slide bolt as shown below and secure using' 6x30mm
screws for each bolt set.

Note:
Attach hinges to the other side on
the secand door so that the doors
open in the middle of the stors,

the door and basa plate,
4. Lid :
Position the lids between the side panels as shown. Align the pre-drilied boit
holes and insert a bolt. Secure each boit with a washer and a nut. Do ot over
tighten the nuts. Attach two chains to the inside of each lid using | x 15 mm
screw per chain. Position the chains so that they can be looped round the
handles of the bin and hooked back on the chain. Attach the lid, stays using
| x 40mm screws per mﬁ< as shown. Using the bin store
A Position tha bin inslde
the store, loop the
chains around the
handles of the bin and




